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QUESTION 1

An application\\'s characteristics are write/read intensive, random access, and small data objects. In this situation, which
of the following disk types would be BEST suited? 

A. SAS -450 GB, 10k RPM 

B. FC- 300 GB. 15k RPM 

C. SATA-1TB, 7.2k RPM 

D. FC-450GB, 15kRPM 

Correct Answer: B 

 

QUESTION 2

An administrator would like to combine several ISLs into a single virtual connection. Which of the following technologies
should be implemented to accomplish this? 

A. LUN Masking 

B. Trunking 

C. Flow Control 

D. VLAN Trunking 

Correct Answer: B 

 

QUESTION 3

Which of the following terms refers to the storage infrastructure as a whole? 

A. Fabric 

B. Connection 

C. SAN 

D. NAS 

Correct Answer: C 

 

QUESTION 4

Rack stabilization ensures which of the following? 

A. All software and drivers are at current levels 

SG0-001 PDF Dumps | SG0-001 Study Guide | SG0-001 Exam Questions                                2 / 3

https://www.leads4pass.com/sg0-001.html
https://www.leads4pass.com/sg0-001.html
https://www.leads4pass.com/sg0-001.html


https://www.leads4pass.com/sg0-001.html
2024 Latest leads4pass SG0-001 PDF and VCE dumps Download

B. All rack PDUs are in phase 

C. The rack is secured and will not move 

D. Rack cabling is routed for easy maintenance 

Correct Answer: C 

 

QUESTION 5

Which of the following is a meshed topology of server nodes, switches, and storage nodes? 

A. Arbitrated loop 

B. FCoTR 

C. Fabric 

D. Zone 

Correct Answer: C 
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